Chapter 6 The Influence of Corporate Strategy on an Organization
Answer 1
(a)
There are several academic models that could be applied to analyse this situation including those such as Shell, Little, Abel and Hammond and PIMS. Two of the most widely used models refer to the product life cycle and the Boston Consulting Group’s (BCG) growth-share matrix. It is on these two that this suggested answer will concentrate.
It is obvious that McGeorge Holdings plc has allowed its range of products to grow without too much regard to the overall efficiency and effectiveness of the product spread. It is required that a more rational approach should be taken so as to rationalize the product portfolio.
The product life cycle can be used to assess where each of the products are located. Some products, in their introductory stage, may not be contributing well to overall profits because of initial research and market development costs but may, in future, provide a regular stream of income to the company. Those in the growth stage should already be profit providers. It is in the later stages of the life cycle that attention needs to be paid. In the maturity/saturation stages it may be prudent to assess whether there is any long-term future in the products. Would investment in alternative products be more sensible? This question is more critical when one investigates products in the decline stage. One has to ask the question whether withdrawing these products may be wise. Products can still be profitable in the decline stage particularly if competitors are exiting the market faster than market demand is falling. It is also important to assess how these products contribute to the overall performance of the company. Maybe withdrawing from a given line might alienate key customers. The products may also provide a complementary range and withdrawal from one area may adversely affect other product sales. If one withdraws certain products are there others which consumers can turn to or must they seek products from key competitors? It is also important to assess how costs such as marketing, distribution and even manufacturing have been allocated. The withdrawal of certain products could result in others having to share and carry higher costs, so making them price uncompetitive. One must not rush into product rationalization programmes without considering the consequences of such an action.
The BCG growth-share matrix examines the inter-relationships between market share and market growth of given products. It assesses resource generation alongside resource needs. The ‘cash-cow’, described as such because products in this criteria (low growth and high market share) are usually very profitable and generate surplus funds and so are often used to finance other developments. Such products are not recommended for deletion. The ‘stars’ generate high revenues because the products have high market shares, but because the market is growing fast such products need to invest heavily to maintain their position. These are unlikely to be highly profitable as yet, but decisions to withdraw such products should be rejected. It is likely that such products will become more profitable as market growth stabilizes. The ‘problem child’ or ‘question mark’ product is probably currently losing money. A prognosis needs to be made of future movements. Can the product achieve a significant share of the market? If the assumption is positive then the product may proceed to become a ‘star’ and later a ‘cash cow’. However if there are considerable doubts then the product may have to be withdrawn. It is often assumed that ‘dogs’ – those products with low market share and low growth potential should be withdrawn from the market place. However some ‘dogs’ are known as ‘cash dogs’. They occupy a niche position and are still capable of returning a profit. If this is the case then they can be persevered with until such a time that they have little to offer the company. However true ‘dogs’ need to be eradicated. They consume too much management time and money. These need to be focused on present and future winners.
Adrian Reed needs to be careful which products to remove from the portfolio. Some rationalization will be needed but this should be carried out carefully and not rushed into.
(b)

‘Benchmarking’ the McGeorge organization will enable Adrian Reed to assess in which areas the performance of his company falls short of that of his competitors and can help determine what action needs to be taken to correct any adverse findings.
There are several ways in which benchmarking can be carried out. Internal bench-marking can compare different units within McGeorge Holdings plc. Some centres may be more proficient than others and a transfer of knowledge and skills could be beneficial to the group as a whole. Competitive benchmarking attempts to compare products, processes and results and show where the company is failing with reference to those of competitors. The difficulty here is accessing confidential data of competitors. They are not going to make it easy for McGeorge by providing them with this information. Customer benchmarking attempts to compare corporate performance with the performance expected by customers. How far is there a gap between expected performance and actual? Generic benchmarking compares similar business functions between companies operating in different industries. For example how do financial results – gearing, liquidity etc compare in differing industrial sectors? Process or activity benchmarking attempts to identify the current best practice within an organization (regardless of sector) for activities such as manufacturing, engineering or human resource management. Then this best practice can be imported into the McGeorge organisation, assuming compatibility.
There are a number of limitations associated with benchmarking. Can relevant data be obtained to make any comparison meaningful? Some of the comparisons may be meaningless. Circumstances between firms, environments and products all differ so making a comparison appear like comparing ‘apples with oranges’. The process can appear to be an historical exercise. The world moves on and what was acceptable yesterday may be out of date tomorrow. Furthermore there is an implicit assumption that there is an optimum solution. A process can be efficient but does it add value – is it effective? It is possible that distribution costs can be reduced to almost zero by distributing nothing. Is this solution useful? If benchmarking concentrates on efficiency, ignoring effectiveness, then it is missing its purpose.
Reed could utilize benchmarking to assess the corporate performance of the company but this needs to be implemented carefully and results must be analysed critically without snap judgements being made.
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